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HS FHK TR BE#CED FER FAEH(E2) it E EEES
23911 |704% peq L e L) HY (FEETIEAW) 4A13H ) AL
23912 [40f% S KT HY (BETEAEW) 48148 HY Eyan=|
23913  |60f% S FRAT IR 4H16H HY) (BULEZEFTT) 7L
23914 |60t S SR AT HER 4H16H HY (BHEZEMT) mL
23915 |204% peq L e L) HY (FEETIEAW) 4A15H ) E=vad=|
23916 |10m R |&iE SR ET HY (BETEAEW) 4F14H HY) 5L
23917 |50f% S ESpeli) HY (BETIEEW) 4H16H HY) BEX
23918 [20f% Eegc KT HY (BETEAEW) 4B16H HY BilzN: 9=
23919 |104% peq L NIEFH HY (BETIEARW) 4A14H - L
23920 |10mKiG |B1E NEF HY (BETEAEW) 48 17H - L
23921 [20f% pegis BRREFTEN HY (BETIEAEW) 4H16H - 7L
23922 |40f% S BRREREN HY (BETEAEW) 4B16H HY Eyan=1|
23923 [|304% peq L EIRT HY (BETIEARW) 4A14H ) HE¥
23924 |10 | B KT HY (BETEAEW) 48158 HY (HF - REMEKL0D) %L
23925 |30f% S KK ET IR 4R15H HY (SinEMEK29) SifzNig=]
23926 [20f% Legc SR AT HY (BETEAEW) 4815H - E=yan=|
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5 e/ | 1l BEEHCED R 5 B (32) HE R B
23927 |104% peq L NIEFH HY (BETIEARW) 4A1TH - L
23928 |10m ki |B1E NEEF HY (BETEAEW) 4H16H - L
23929 |704% Bt ERT HY (BETIEARW) 4A12H - L
23930 [104% Bk J\IEFH HY (BEETEARW) 4A17H - i L
23931 |104% Bt ERT HY (BETIEARW) 4A1TH HY L
23932 |40k S BRREREN HY (BETEAEW) 4B17H - E=yan=|
23933 [30f% pegis BRREFTEN HY (BETEEW) 4817H HY) SifzNig=]
23934 |504% peq L Kb ET HY (BEETEARW) 4A17H - £it8
23935 |204% peq L bty HY (BETEARW) 4A13H - L
23936 |20f% S IR HY (BETEAEW) 4817H HY (B%61) N3]
23937 |104% Bt ==Fatiiny HY (BETIEARW) 4A1TH - L
23938 |404% S $K R AT HY (BEETEARW) 4816H HY ey
23939 [|304% Bt NIEFH HY (BETEARW) 4A1TH ) E=vad=|
23940 |10mKi |1 NEFH HY (BETEAEW) 48 18H HY) L
23941 |10m%kiE |BiE NIEFH fERER 4A18H HY L
23942 |10mRi | &k BRREREN HY (BETEAEW) 48 17H - L
23943 |204% Bt ERT HY (BETEARW) 4A17H HY L
23944 (301X S IR HY (BETEAEW) 48138 HY BilzN: 9=
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23945 |104% peq L ERT HY (BETIEARW) 4A18H HY L
23946 [10f% S HEMREEFTE W HY (BETEAEW) 4817H - L
23947 |304% Bt AR AT E N HY (BETIEARW) 4A16H - E=van=|
23948 |10m R |k bk HY (BETEAEW) 4817H - L
23949 |104% Bt F( =i HY (BETIEARW) 4A1TH - L
23950 |10m%kid |BiE AR EEATE N HY (BETIEARWL) 4A17H - AL
23951 |404% Bt AR AT E N HY (BETIEARW) 4A16H ) E=vad=|
23952  [40f% 7 bk HY (BETEAEW) 4B11H HY Eyan=1|
23953  [301% % el ) HY (EFETIEHRL) 4816H &HY) =ft8
23954 |304% peq L AR EEATE N HY (BETIEARWL) 4A11H HY AL
23955 |504% peq L AR AT E N HY (BETIEARW) 4A1TH HY (SimEHE%28) E=van=|
23956 |304% Bk 5[ l=ns) HY (BETIEARWL) 4817RH - N3]
23957 |104% peq L F( =i HY (BETEARW) 4A1TH - L
23958 |10mkim |&tE vt HY (EFETIEHRL) 4H16H HlY (HE - REMKL0T) 5L
23959 |10mskid &M AR AT E N HY (BETIEARW) 4A16H HY (BB - RBEMERL04) L
23960 |10m%kid =ik AR EATE N HY (BETIEARWL) 48141 HY (BB - REMEHRL04) L
23961 [304% peq L AR AT E N HY (BETEARW) 4A16H HY (BB - REMERL03) SHE
23962 [10f% B bk HY (BETEAEW) 4816H HY (F#109) %L
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23963 |104% Bt Em HY (BETHEARWL) 4A1TH - L
23964 [10f% Legc t&E™ HY (BETEAEW) 4H16H HY) 5L
23965 |10mskid &= S|l HY (BETHEARL) 4A1TH HY (BB - RBEMERL04) L
23966 |10m%kid |BiE RERREEATE N HY (BETIEARWL) 4A16H ) AL
23967 |10mskid (&M Em HY (BETHEARWL) 4A13H HY L
23968 |301% 7 jttm HY (EFETIERL) 4H1TH HY (B - REMEKL03) BifN:A=]
23969 |10mskid (&M s[5 HY (BETEARL) 4A17H HY (BB - RBEMERL03) L
23970 |10mRiG |k bk HY (BETEAEW) 4817H HY) L
23971 |404% Bt Em HY (BETHEARL) 4A1TH ) E=vad=|
23972 |30k 7 =l HY (BETEAEW) 4B17H HY Eyan=|
23973 |104% peq L AR AT E N HY (BETIEARW) 4A16H HY L
23974 |10 K | B t&E™ HY (BETEAEW) 4817H - L
23975 |10m%kiE |BiE AR AT E N HY (BETEARW) 4A15H HY (HE - RBEMEKRION) L
23976 |10mkim |BHE vt HY (EFETIEHRL) 4H16H HlY (HE - REMKL0T) 5L
23977 |104% peq L AR AT E N HY (BETIEARW) 4A17H - L
23978 [10f% Legca HEMREEFTE W HY (BETEAEW) 48 17H - L
23979 |10mkid &M Em HY (BETHEARL) 4A17H HY (BB - RBEMERL04) L
23980 |101% B vt HY (EFETIEHRL) 4817H - 7wl
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23981 |10mskit &M Em HY (BETHEARWL) 4A16H HY (BB - RBEMERL04) L
23982 [10% B =l HY (BETEAEW) 4H16H HY) 5L
23983 |10mskid &M S|l HY (BETHEARL) 4A16H HY (BB - REMEKII) L
23984 |10m ki | B bk HY (BETEAEW) 4817H - L
23985 |704% Bt Em HY (BETHEARWL) 4A1TH HY L
23986 |404% peq L AR EEATE N HY (BETIEARWL) 4A15H ) NR— k&< —
23987 |104% Bt AR AT E N HY (BETIEARW) 4A15H HY L
23988 |10m%kid =ik RERREEATE N HY (BETIEARWL) 4A13H ) AL
23989 |40#% peq L F( =i HY (BETEARW) 4A18H - NBE
23990 |101% B jttm HY (EFETIERL) 4816H o) 7wl
23991 (201X % el ) HY (EFETIEHRL) 4815H HY (B - REMEXRL04) SilzNia=]
23992 |501% pegis vt HY (EFETIEHRL) 4H15H HY (B - REMEKL03) W= bR Af~—
23993 |10mkid (&M AR AT E N HY (BETEARW) 4A1TH HY L
23994 |80 peq L Faf0E By HY (BETIEARWL) 4A16H - # L
23995 |404% peq L EiEik=t:) fERER 4A12H - E=van=|
23996 |101% B vt HY (EFETIEHRL) 4H11H HY (F#109) 5L
23997 |204% Bt AR AT E N HY (BETEARW) 4A16H - E=van=|
23998 [401% ik &M HY (EIETIEAEW) 4815H »HY =ft8
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23999 |504% Bt AR AT E N HY (BETIEARW) 4A16H - E=van=|
24000 [20f% Legc HEMREEFTE W HY (BETEAEW) 48128 HY Eyan=|
24001 |504% Bt S|l HY (BETHEARL) 4A14H ) E=vad=|
24002 90 L |k bt IR 48 18H HY) L
24003 |401% peqi3 Em HY (BETHEARWL) 4A1TH - E=van=|
24004 [40f% 7 =l HY (BETEAEW) 4B818H HY BilzN: 7=
24005 |404% Bt s[5 HY (BETEARL) 4A17H HY (BB - RBEMERL04) SHE
24006 [20f% B bk HY (BETEAEW) 4B16H - E=yan=|
24007 |504% Bt AR AT E N HY (BETEARW) 4A1TH - E=van=|
24008 [40f% Legc HEMREEFTE W HY (BETEAEW) 4B17H HY BilzN: 7=
24009 |40f% geqi3 S|l HY (BETHEARL) 4A16H HY (BB - RBEMERL04) L
24010 |10 (&M 5[ l=ns) HY (BETIEARWL) 4816H HY (BB - REMEHRL04) L
24011 (201X % el ) HY (EFETIEHRL) 4818H - N 3=
24012 |10f% i bk HY (BETEAEW) 48 17H HY) L
24013 |10mkid &M s[5 HY (BETEARL) 4A17H HY (BB - RBEMERL03) SHE
24014 |10mRi | &k t&E™ HY (BETEAEW) 48 17H - L
24015 |104% peqi3 Em HY (BETHEARL) 4A16H HY L
24016 |10mRi |1 t&E™ HY (BETEAEW) 4H16H HY) L
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24017 1048 Bt F( =i HY (BETIEARW) 4A16H - L
24018 [40f% S t&E™ HY (BETEAEW) 48158 HY Eyan=|
24019 |104% Bt AR AT E N HY (BETIEARW) 4A1TH - L
24020 |50f% 7 bk HY (BETEAEW) 48138 HY (HE - REMBEKII) L
24021 |304% Bt AR AT E N HY (BETIEARW) 4A1TH HY (BB - REMEKII) E=van=|
24022 |10mKiG | &k =l HY (BETEAEW) 48148 HY (HE - REMBEKII) L
24023 |10mkiE (B s[5 HY (BETEARL) 4A17H - L
24024 |10 | B HEMREEFTE W HY (BETEAEW) 47 18H HY) L
24025 [401% % el ) HY (EFETIEHRL) 4H18H &HY) N 3=
24026 |10k |BE =l HY (BETEAEW) 4F14H - L
24027 |304% Bt AR AT E N HY (BETIEARW) 4A16H ) E=vad=|
24028 [10f% Legc HEMREEFTE W HY (BETEAEW) 4H16H HY) L
24029 |104% peq L F(E= i HY (BETIEARW) 4A16H HY L
24030 [20f% B =l HY (BETEAEW) 4816H HY BilzN: 7=
24031 |304% Bt AR AT E N FERER 4A15H - E=van=|
24032 [20f% 7 =l HY (BETEAEW) 4B17H HY (HE - REMBEKII) SilzN: =]
24033 |804% peq L AR AT E N HY (BETIEARW) 4A18H HY L
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24034 |40f% S =] IR 4H18H HY) SifzNiEg=]
24035 |10mKi | B =B HY (BETEAEW) 4817H - L
24036 [10f% S REBRIEFTEN HY (BETIEEW) 4817H - 7L
24037 |20f% pogis SeLady) HY (BETEAEW) 4H16H HY (%64 248
24038 |304% geqi3 =T HY (BETIEARW) 4A15H HY (Bii564) E=van=|
24039 |50f% S t&E™ HY (BETEAEW) 48158 HY Eyan=|
24040 |60f% S REBRIEFTEN HY (BETIEEWL) 4H16H - BEX
24041  [40f% Legc HEMREEFTE W HY (BETEAEW) 4816H HY Eyan=|
24042 |104% Bt B3 HY (BETIEARW) 4A1TH - L
24043 |50f% S & /7 I ET HY (BETEAEW) 48138 - E=yan=|
24044 |10 (&M B3 HY (BETIEARW) 4A15H HY L
24045 [20f% Legc BN HY (BETEAEW) 4B17H - E=yan=|
24046 |10 (=M B3 HY (BETEARW) 4A17H - L
24047 |40f% S BINREEFTEA HY (BETEAEW) 4B17H - E=yan=|
24048 |10f% S BMNREFTEA HY (BETIEEW) 4H16H - 7L
24049 |50f% S BN HY (BETEAEW) 4816H - E=yan=|
24050 |30f% pegis BN HY (BETIEEW) 4H18H HY) E=gan=|
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24051 |304% Bt B3 HY (BETHEARL) 4A17H ) E=vad=|
24052 |10mKi | B BN HY (BETEAEW) 4817H HY) L
24053  |40f% peq L BNRERTE X HY (BETEARL) 4A16H - TILNA b
24054  [40f% S BN HY (BETEAEW) 4B17H - E=yan=|
24055 |104% Bt ENRERTE X HY (BETHEAWL) 4A15H HY L
24056 |30f% Legc BN HY (BETEAEW) 4816H - SilzN:g=]
24057 [401% S BN HY (EFETIEHRL) 4817H &HY) BilZNia=]
24058 |10m ki |B1E BN HY (BETEAEW) 48 18H HY) 5L
24059 |10mRiE &M B3 HY (BETHEAWL) 4A16H HY L
24060 |60f% Legc BINREEFTEA HY (BETEAEW) 48158 - E=yan=|
24061 |104% Bt B3 HY (BETEARWL) 4A1TH - E=van=|
24062 |10 | B BN HY (BETEAEW) 48 18H HY) 5L
24063 |604% peq L B3 HY (BETHEARL) 4A18H ) E=vad=|
24064 [10f% S BINREEFTEA HY (BETEAEW) 4817H HY) 5L
24065 |304% peq L BNRERTE X HY (BETHEARL) 4A16H - E=van=|
24066 |10 |k BN HY (BETEAEW) 4817H HY) 5L
24067 |204% B &7 I ] HY (BETHEARWL) 4A17H ) BEZ




10/13_—%

= FR R BE#(GEL) KR FAEH (£2) AR S
24068 |10m%kiE |BiE B3 HY (BETHEARL) 4A17H HY L
24069 [10% S BN HY (BETEAEW) 4B17H - E=yan=|
24070 (301X pegis BN HY (EFETIEHRL) 4H17H &HY) N 3=
24071 |10mKi | B BINREEFTEA HY (BETEAEW) 48 17H HY) L
24072 |604% Bt ENRERTE X HY (BETHEAWL) 4A18H ) ELIN S
24073 [20f% Legc BN HY (BETEAEW) 4H16H - L
24074 |504% Bt B3 HY (BETHEAWL) 4A16H - BE3
24075 |50f% S & /7 I ET HY (BETEAEW) 4B17H - BEX
24076  [501% pegis BN HY (EFETIEHRL) 4817H - SilZNi3=]
24077 |20£% S BN HY (BETEAEW) 4817H HY) 5L
24078 |404% peq L BNRERTE N HY (BETEARWL) 4A1TH ) E=vad=|
24079 |10 | B BINREEFTEA HY (BETEAEW) 4817H - L
24080 |304% peq L BNRERTE X HY (BETHEARL) 4A17H - E=van=|
24081 [30f% S —Eh HY (BETEAEW) 48158 - E=yan=|
24082 |10k &M —BgmH HY (BETIEARW) 4A16H HY L
24083 [10f% Legc —Eh HY (BETEAEW) 4817H - L
24084 |104% Bk —BEREFTE N HY (BETIEARW) 4A16H - E=van=|
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24085 |504% Bt —BgmH HY (BETIEARLW) 4A17H ) BEZ
24086 |50f% Eegc —Eh HY (BETEAEW) 4B17H HY Eyan=1|
24087 |104% Bt —BgmH HY (BETIEARW) 4A18H - L
24088 |10m ki | B —Eh HY (BETEAEW) 48 15H HY) L
24089 |40f% peq L —BgmH HY (BETIEARW) 4A1TH - E=van=|
24090 |10mKiG |B1E —Eh HY (BETEAEW) 4817H - L
24091 |10mEkid &M —BgmH HY (BETIEARW) 4A1TH - L
24092 [20f% Legc —Eh HY (BETEAEW) 4B818H - SilzN:g=]
24093 |304% peq L —BgmH HY (BETIEARW) 4A17H ) NS
24094 |30f% S —BH IR 4B17H HY Eyan=|
24095 [301% pegis —Bm HY (EFETIEHRL) 4816H - SilZNi3=]
24096 [20% Legc —Eh HY (BETEAEW) 4B17H HY Eyan=1|
24097 (301X pegis —Bm HY (EFETIEHRL) 4H18H &HY) N 3=
24098 [40f% Legc —Eh HY (BETEAEW) 4B818H HY (F#%109) 218
24099 |104% Bt —BgmH HY (BETIEARW) 4A15H - L
24100 [40f% S K™ HY (BETEAEW) 4B17H - E=yan=|
24101 |40f% Bk BERTS AT HY (BETIEARW) 4A12H - BE3

- 11 -



12/13_—=%

= FR R BE#(GEL) KR FAEH (£2) AR S
24102 |104% Bt ZRREFREN HY (BETIEARLW) 4A18H - L
24103 |30f% Eegc EHREMERN HY (BETEAEW) 4816H HY BEx
24104 |104% peq L BEREREN HY (BETIEARW) 4A17H HY L
24105 |10mKiG | B EHREMERN HY (BETEAEW) 4H16H HY) L
24106 |10m%KiE |BiE BEREEN FERER 4A16H HY (BB - REMEKIT) L
24107 |20f% S EHREMEN HY (BETEAEW) 48128 HY RNBE
24108 |40f% Bt AFEH HY (BETIEARW) 4A15H ) NS
24109 [10% Legc ARREFTERN HY (BETEAEW) 4817H HY) 5L
24110 [401% pegis AT HY (EFETIEHRL) 4818H - N 3=
24111  |40£% Legc AR™ HY (BETEAEW) 48148 HY (HE - REMBEHKIG) W= b2 A< —
24112 408 Bt AFEH HY (BETIEARW) 4A16H HY (BB - REMEKIS) E=van=|
24113 |10 R | &k ARREFTERN HY (BETEAEW) 48158 HY (F#110) %L
24114 408 peq L ATIREFTE N HY (BETEARW) 4A16H HY (F#110) SHE
24115 |10 K |1 FEEFHT HY (BETEAEW) 4H16H HY) 5L
24116 |204% peq L e agi) HY (BETHEARL) 4A15H ) Eilzy=3=}
24117 |10mR (& FEEFHT HY (BETEAEW) 48148 HY BilzN: 9=
24118 4018 peq L AFEH HY (BETIEARW) 4A16H HY (SmEHER26) BileS:a=]

- 12 -



13/13=—%

= FR R BE#(GEL) KR FAEH (£2) AR S
24119 |604% Bt AFEH HY (BETIEARLW) 4A14H HY L
24120 |10mKi | B AR™ HY (BETEAEW) 4817H HY) L
24121 |304% peq L ATEIREFTE N HY (BETIEARW) 4A17H ) Eilzy3=}
24122 |10mK | B AR™ HY (BETEAEW) 4H16H HY) L
24123 |304% peq L AFEH HY (BETIEARW) 4A15H - NBE
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